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}IMETRON AJOSARJA

3731 16.08.1993
KULJETTAJILLE 1371 3371 5371
LAUANTAISIN / AIKAINEN VUORO
AJO-OHJELMA 1101 AJO-OHJELMA 1102
VUORO MV MM RL VUORO MM IK IK
AUKIAJO 5.00 -(K)5.16 - 885 ] 9.46 - 10.41
+ LVP:T
4 RL RL 3 10.45 - [10.51 - 11,36
4 5.38 - 6.26
% 6.38 - 7.26
2 7.38 - 8.26
RL IK
3 8.38 - 9,44
(K)=SUORITTAA KYTKENNAN NO. 60
AVUSTAA KYTKENNASSA NO. 66
4.16 4.19 + 0.10 = 8.45
{ 4.55) 5.00 - 9.11 ( 9.41) 9.46 = 11,36 (14.00)
MV IK TR IK
METRON AJOSARJA 371 16.08.1993
RULTETTAIILLE 137l 3371 5371
LAUANTAISIN / MYOHAINEN VUORO
AJO-OHJELMA 1103 AJO-OHJELMA 1104
VUORO IK IK VUORO MM IK IK RL
1 16.16 - o R s 8 18.46 16 .41
9 1716 - 18.11 9 19.45 - [19.51 20.06
RL RL
3 20.18 21.06
6 21.18 22.06
; 2218 23.06
RL MM MV
(K)=SUORITTAA KYTKENNAN NO. 58-> 8 23.18 |~ 23.43 =(K)23.54
0.10 + 3.16 5.19 = 8.45
(14.55) 16.16 - 18.11 (18.41) 18.46 = 23,58 [24.00)
IK IK I MV




METRON AJOSARJA 371 16.08.1993 A
' KULJETTAJILLE 1371 3371 5371
LAUANTAISIN / AIKAINEN VUORO
AJO-OHJELMA 1101 AJO-OHJELMA 1102
VUORO MV MM RL VUORO MM IK IK
AUKIAJO 4.55 —-(K)5.11 - 5.30 3 9.46| -  10.41
+ LVP:T
4 RL RL 3 10.45 - |10.51| -  11.36
4 5.38 - 6.26
:} 6.38| - 7.26
2 7.38| - 8.26
RL IK
3 8.38| - )
(K)=SUORITTAA KYTKENNAN NO. 60
AVUSTAA KYTKENNASSA NO. 66
&:.27, + .44 4 090 =  8.48
( 4.50) 4.55 - 9.11 ( 9.41) 9.46 - 11.36 (13.55)
MV IK IK IK
METRON AJOSARJA 371 16.08.1993
KULJETTAJILLE 1371 3371 5371
LAUANTAISIN / MYOHAINEN VUORO
AJO-OHJELMA 1103 AJO-OHJELMA 1104
VUORO IK IK VUORO MM IK IK RL
1 16.16| - 17.11 8 18.46| - 19.41
9 17.16| = 18.14 9 19.45 - |19.51| - 20.06
RL RL
3 20.18| - 21.06
6 21.18| - 22.06
7 22.18| - 23.06
RL MM MV
(K) =SUORITTAA KYTKENNAN NO. 58-> 8 23.18|- 23.42 -(K)23.54
0.10 + 3.16 + 5.19 =  8.45
(14.55) 16.16 - 18.11 (18.41) 18.46 - 23.54 (24.00)
IK IK IK MV



’ﬁETRON AJOSARJA 372

16.08:1993

KULJETTAJILLE 1372 3372 5372
LAUANTAISIN / AIKAINEN VUORO
AJO-OHJELMA 1105 AJO-OHJELMA 1106
VUORO MV IK MM RL VUORO MM IK IK
; 5.09 - 5.14 - 5.25 - 5.46 3 Sui = | ‘gaqgl = 9.56
RL RL 10 9.55 - [10.01| -  10.46
2 5.58| - 6.46 5 10.56| -  11.51
3 6.58| =—(K) 7.46 4 135568 12.01] = I2.46
RL IK
5 7.58| - 8.31
(K) =SUORITTAA KYTKENNAN NO. 62
327 5.08 + 0.10 = 8.45
( 5.04) 5.09 - 8.31 ( 9.06) 9.11 - 12.46 (14.14)
MV IK IK IK
METRON AJOSARJA 372 16.08.1993
KULJETTAJILLE 1372 3372 5372
LAUANTAISIN / MYOHAINEN VUORO
AJO-OHJELMA 1107 AJO-OHJELMA 1108
VUORO MM IK IK VUORO RL RL
9 16.25 - [16.31| - 17.16 9 20.08| - 20.56
2 17.15 - [17.21| - 18.06 3 21.08| - 21.56
9 18.05 - [18.11| - 18.56 6 22.08| - 22.56
MM TX RL RL MM IK
3 19.05 - |19.11| - 19.26 7 23.08(- 23.32 -(K)23.37

(6709 1 0 NINNE 4.56
(14.32) 16.3L = 19.26

IK RL

(K)=SUORITTAA KYTKENNAN NO. 57

3.39 = 8.45
(20.03) 20:08 ~— 23.37 (23.:42)

RL IK



"METRON AJOSARJA 373 16.08.1993
KULJETTAJILLE 13743 3373 5373
LAUANTAISIN / AIKAINEN VUORO
AJO-OHJELMA 1109 AJO-OHJELMA 1110
VUORO MV IK MM RL VUORO MM IK IK
2 5.19 - 5.24 - 5.35 - 5.56 5 10.05 - |10.11| - 10.56
RL RL 4 11.06| - 12.01
3 6.08| - 6.56 1 12,05 = |12.11] = 12,56
5 7.08| =-(K) 7.56
RL IK
4 8.08| - 8.41
MM IK IK
o 8.45 - | 8.51| - 9.36
(K) =SUORITTAA KYTKENNAN NO. 63
4.22 4.13 + 0.10 = 8.45
{ 5.14) 5,19 ~ 9,36 (10.06) 10.11 - 12.56 (14.19)
MV IK IK IK
METRON AJOSARJA 373 16.08.1993
KULJETTAJILLE 1373 3373 5373
LAUANTAISIN / MYOHAINEN VUORO
AJO-OHJELMA 1111 AJO-OHJELMA 1112
VUORO MM IK IK VUORO RL RL
5 15.05 - |[15.11| - 15.56 8 19.58| -  20.46
4 16.06| = 17.061 9 20.58| - 21.46
8 17.06| - 18.01 3 21.58| -  22.46
2 18.06| - 19.01 RL MM MV
6(+3)[22.58|- 23.22 -(K)23.34

B0 % du
(14.30) 15.11 = 19,01
IK IK

(K)=SUORITTAA KYTKENNAN NO. 56

4.04 =
19:58 =

8.45

(19.36) 23.34

(23.40)

IK RL MV



"METRON AJOSARJA 374 16.08.1993
KULJETTAJILLE 1374 3374 5374
LAUANTAISIN / AIKAINEN VUORO
AJO-OHJELMA 1113 AJO-OHJELMA 1114
VUORO MV IK MM RL VUORO MM IK IK
3 5.29 - 5.34 - 5.45 - 6.06 4 9.26| - 10.21
RL RL 1 10.25 - |10.31| - 11.16
5 6.18| - 7.06 8 PE35 = [4%:24 = cip.6é
4 7.18| -(K) 8.06
RL IK
1 g8.18| - 8.51
(K)=SUORITTAA KYTKENNAN NO. 64
2 M 5.08 + 0.10 = 8.45
( 5.24) 5.29 - 8.51 ¢ 9.21) 9,26 = 42,06 {14.29)
MV IK IK IK
METRON AJOSARJA 374 16.08.1993
KULJETTAJILLE 1374 3374 5374
LAUANTAISIN / MYOHAINEN VUORO
AJO-OHJELMA 1115 AJO-OHJELMA 1116
VUORO MM IK IK VUORO MM IK IK RL
8 16.15 - [16.21| - 17.06 5 18.25 - |18.31| -(K)19.16
3 17.05 - [17.11| - 17.56 6 19.15 - |19.21| - - 19.36
RL RL
(K)=SUORITTAA KYTKENNAN NO. 68 -> 7 19.48| - 20.36
8 20,48] - 21.36
9 21.48| - 22.36
RL MM IK
(K) =SUORITTAA KYTKENNAN NO. 55 -> 3 22.48|- 23.12 =-(K)23.17
.30 * 3438 4.57 = B.45
(12,185 46,21 = 17.56 (18.26) 183 = 28,17 {25.29)
IK IK IK IK




“METRON AJOSARJA 375 16.08.1993
KULJETTAJILLE 1375 3375 5375
LAUANTAISIN / AIKAINEN VUORO
AJO-OHJELMA 1117 AJO-OHJELMA 1118
VUORO RL IK MM RL VUORO MM IK IK
(AUKIAJO (K)5.31->)5.44-5.55- 6.16 4 8.38 = | @.a1] = 9.26
i 6.28| - 7.16 1 9.36/ - 10.31
RL IK 9 10.36| = 11.34
1 7.28| -(K) 8.01 10 11.35 = {1i.41] = 12.2¢
(K) =SUORITTAA KYTKENNAN NO. 61
(K)=SUORITTAA KYTKENNAN NO. 65 SIIRTYMINEN RUOHOLAHTEEN
2.46 ¥ 429 % BelB = T8
{ 5,18} 5+31 = 8.00 ( 8.36) 8.41 =~ 12.26 (13.05)
RL IK IK IK RL
METRON AJOSARJA 375 16.08.1993
KULJETTAJILLE 1375 3375 5375
LAUANTAISIN / MYSHAINEN VUORO
AJO-OHJELMA 1119 AJO-OHJELMA 1120
VUORO MM IK IK VUORO RL RL
10 15.46| - 16.41 9 20.38| - 21.26
5 16.45 - |16.51| - 17.36 8 21.38| - 22.26
4 17.46| -  18.41 9 22.38| -(K)23.26
1 18.45 - |18.51| =-(K)19.36
MM IK RL
8 19.35 - [19.41| - 19.58
(K)=SUORITTAA KYTKENNAN NO. 70 (K)=SUORITTAA KYTKENNAN NO. 59

0,10 =
15.46 -

5.20 +
19.58

315 =
20.38 =

8.45

(14.38) (20.33) 23.26 (23.48)

RL IK RL RL RL



"METRON AJOSARJA 376 16.08.1993
KULJETTAJILLE 1376 3376 5376
LAUANTAISIN / AIKAINEN VUORO
AJO-OHJELMA 1121 AJO-OHJELMA 1122
VUORO RL RL VUORO MM IK IK
1 5.48| - 6.36 4 1015 = 1083 = 21.08
2 6.48| - (K)7.36 1 11.16| - 12.11
3 7.48| - 8.36 2 12.15 - |12.21| - 13.06
MM IK IK
g 8.55 - | 9.01| - 9.46
(K) =SUORITTAA KYTKENNAN NO. 66 SIIRTYMINEN RUOHOLAHTEEN
4.20 4.15 + 0.10 = 8.45
( 5.26) 5.48 - 9.46 (10.16) 19.21 = 13.06 (14.31)
RL IK IK IK RL
METRON AJOSARJA 376 16.08.1993
KULJETTAJILLE 1376 3376 5376
LAUANTAISIN / MYOHAINEN VUORO
AJO-OHJELMA 1123 AJO-OHJELMA 1124
VUORO MM IK IK VUORO RL RL
1 15.25 - |15.31| - 16.08 6 290.28] = 921.16
2 16.26] = 19.21 7 31,28 = 22.16
10 17.26| - 18.21 8 .28 =~ 23.06
6 18.26| - 19.21
MM IK RL
7 19.25 - [19.31| - 19.48
0.10 + 5.20 3.15 = 8.45
(14.28) 15.31 - 19.48 (20.23) 20.28 = 23.16 (23.38)
RL IK RL RL RL



‘METRON AJOSARJA 377 16.08.1993
KULJETTAJILLE 1377 3377 5377
LAUANTAISIN / AIKAINEN VUORO
AJO-OHJELMA 1125 AJO-OHJELMA 1126
VUORO MM IK IK
AVUSTAA KYTKENNOISSA NO. 62 - 65
SIIRTYY VUORON 1 MUNKANA IK:EEN 6 11.46 - 12.41
VUORO MM IK RL 1 12.56 - 13 .51
A 7.55 - 8.01 - 8.16 2 13.55 - |14.01 - 14.46
RL IK
2 8.28 - 9.01 7 15.16 - 16.11
IK IK
5 9.16 - e PR 8.
7 10.16 - o PR
4.00 7, Sy 2 Lo L ¢ T 3 = 8.45
( 7.11) g0 = 11T (11.41) 11.46 SO - v W 7Y = e £
MM IK IK IK IK
METRON AJOSARJA 377 16.08.1993
KULJETTAJILLE . 137% i 4 7 0 5377
LAUANTAISIN / MYOHAINEN VUORO
AJO-OHJELMA 1127 AJO-OHJELMA 1128
VUORO MM IK IK VUORO IK IK
4 12.46 - 13 84 3 18.16 - i I s
. 13.45 - [13.51 - 14.36 RL RL
2 14.46 - 15.41 6 16,38 - 20.26
3 15.45 - |15.51 - 16.36
6 16.46 - o iy T % | SIIRTYMINEN ITAKESKUKSEEN
0.0 # 5.20 < = 8.45
f12.21) A48 = I7.41 (1831 18.16 - 20.26 (21.26)
IR IK IK RL IK




METRON AJOSARJA 378 16.08.1993
KULJETTAJILLE 1378 3378 5378
LAUANTAISIN / AIKAINEN VUORO

AJO-OHJELMA 1129 AJO-OHJELMA 1130
VUORO MV IK IK VUORO MM IK IK
6 8.18 - 8.26 - 9.21 7 12.45 - |12.51| - 13.36
MM IK IK 8 13.46| - 14,41
. 9.25 - 9.31 - 10.16 9 14.45 - |14.51| - 15.36
8 10.26 - 11.21
9 11.25 = |1i1.31 - 12.16
4.03 + 4.,32 =+ 0106 = 8.45
¢ 8+13) 8.18 - 12.16 (12.46) 12.81 = 15:36 {(17.18)
MV IK IK IK
METRON AJOSARJA 378 16.08.1993
KULJETTAJILLE o UHT 8 3378 5378
LAUANTAISIN / MYOHAINEN VUORO
AJO-OHJELMA 1131 AJO-OHJELMA 1132
VUORO MM IK K VUORO MM IK IK
3 12.25 - |12.31 =« 18416 3 14.56| - 15.51
6 13.26 = 14,21 6 15.55 - |16.01| - 16.46
7 16.56| - a by o
i 17.56| - 18.51
2 18.55 - [19.01| -(K)19.39
IK MV
2 + 1 19.46 - 19.51
(K)=SUORITTAA KYTKENNAN NO. 71

G0 %  H5.298 + 5.07 = B A5
(10. 53y 12.31 = 1421 (14.51) 14.56 - 19.51 (19.58)

IK IK IK MV



METRON AJOSARJA 379 16.08.1993
KULJETTAJILLE 1379 3379 5379
LAUANTAISIN / AIKAINEN VUORO
AJO-OHJELMA 1133 AJO-OHJELMA 1134
VUORO MV IK IK VUORO MM IK IK
7 8.28 - 8.36 - 9.31 6 10.55 - [11.01| - 11 .46
MM IK IK 7 11.56| - 12.5%1
8 9.35 - | 9.41 - 10.26 8 12.55 - |13.01| - 13.46
9 13:56] = 12.51
4 15.15 - [15.21| - 16.06
3195 5.20 4 W 0 = 8.45
U 7:1) 8.28 - 10.26 (10.56) A L - 16.06 (16.16)
MV IK IK IK
METRON AJOSARJA 379 16.08.1993
KULJETTAJILLE 1379 3379 5379
LAUANTAISIN / MYOHAINEN VUORO
AJO-OHJELMA 1135 AJO-OHJELMA 1136
VUORO MM IK IK VUORO MM IK IK
5 15,24 - ¥3. 34 10 14,55 = {1§.01] = 15.46
4 13.35 - |13.41 - 14,26 5 15.56 -  16.51
4 16.55 - |17.01| - 17.46
s 17.45 = [1%.83] = 18.36
4 18.35 - |18.41| -(K)19.26
(K) =SUORITTAA KYTKENNAN NO. 69
G+30 4 @00 4.35 = 8.45
(10.26) 12.36 - 14.26 (14.56) 15.01 - 19.26 (19.31)
IK IK IK IK



‘METRON AJOSARJA 380 16.08.1993
KULJETTAJILLE 1380 3380 5380
LAUANTAISIN / AIKAINEN VUORO
AJO-OHJELMA 1137 AJO-OHJELMA 1138
VUORO MV IK IK VUORO MM IK IK
8 8.38 -  8.46 9.41 9 13.05 - |13.11] - 13.56
MM IK IK 10 .06 = 15,81
9 9.45 - | 9.51 10.36
10 10.46 i (0 5
5 11.45 - |11.51 12,36
4.8% % @48 =  B.45
8331 8.38 - 12.36 (13.06) 18,13 = A5l  {17:38)
MV IK IK IK
METRON AJOSARJA 380 16.08.1993
KULJETTAJILLE 1380 3380 5380
LAUANTAISIN / MYOHAINEN VUORO
AJO-OHJELMA 1139 AJO-OHJELMA 1140
VUORO MM IK IK VUORO MM IK IK MV
2 . 23,08 - 14.01 3 17,25.= (i34 = 18.1%
3 14.05 - |14.11 -  14.56 10 18.15 - [18.21| -(K)19.06
6 15.06 - 16.01 [10+5+4 -  19.26 - 19.31
7 16.05 - |16.11 - 16.56
(K)=SU6RITTAA KYTKENNAN NO. 67
AVUSTAA KYTKENNOISSA NO. 68 JA 69
SIIRTYMINEN TARVITTAESSA IK:EEN
0% 5 . S - ¥ e = 8:45
(11.36) 13.06 - 16.56 (17.26) 17.3% = 49.31 (20.41)
IK IK IK MV



"METRON AJOSARJA 381 16.08.1993
KULJETTAJILLE 1381 3381 5381
LAUANTAISIN / AIKAINEN VUORO
AJO-OHJELMA 1141 AJO-OHJELMA 1142
VUORO MV IK IK VUORO MM IK IK
9 8.48 - 8.56 - 9.51 2 11.26| = 1%.31
3 9.56| - 10.51 10 12,96 = 18.2%
5 13.25 - |13.31| - 14.16
4 14.26 - 15.21
3.15 5.20 + 0.10 = 8.45
( 7.36) 8.48 - 10.51 (11,21) 11,26 = 18,21 (16.41)
MV IK IK IK
METRON AJOSARJA 381 16.08.1993
KULJETTAJILLE 1381 3381 5381
LAUANTAISIN / MYOHAINEN VUORO
AJO-OHJELMA 1143 AJO-OHJELMA 1144
VUORO MM IK IK VUORO MM IK IK
6 12.35 — |a2.41| <= 13.5% 8 17.55 - |18.01| - 18.46
7 13.36] =  14.31 9 18.56| - 19.51
1 14:36] = @ 15,31
9 18.36] = 16.31
10 16,35 - |16.41] - 17.26
0.10 + 4.50 3.45 =  #.d45
(12.36) 12.41 = '17:26 (17.56) 18.01 - 19.51 (21.41)
IK IK IK IK



'METRON AJOSARJA

382 16.08.1993
KULJETTAJILLE 1382 3382 5382
LAUANTAISIN / AIKAINEN VUORO
AJO-OHJELMA 1145 AJO-OHJELMA 1146
VUORO MV IK IK VUORO MM IK IK
10 8.58 - 9.06 10.01 8 14.35 - |14.41| - 15.26
MM IK IK
6 10.06 110
7 1105 = [ 1d. 32 11.56
8 12.06 13.01
10 1845 = 48721 14.06
.39 ¢ BB = B.45
( 8.53) 8.58 - 14.06 (14.36) 14.41 - 15.26 (17.58)
MV IK IK IK
METRON AJOSARJA 382 16.08.1993
KULJETTAJILLE 1382 3382 5382
LAUANTAISIN / MYOHAINEN VUORO
AJO-OHJELMA 1147 AJO-OHJELMA 1148
VUORO MM IK IK VUORO MM IK IK
9 18,06 i8.94 2 15.35 - |15.41| -  16.26
3 13.16 14,11 3 16:36| =~ I7.31
6 14.15 - [14.21 15.06 5 17.36| = 18,31
7 18.36| - 19.31
G380 <4 4,35 4.00 = 8.45
(10.31) 12.16 - 15.06 (15.36) i5.41 = 45,31 {1986}
IK IK IK IK



"METRON AJOSARJA 383 16.08.1993
KULJETTAJILLE 1383 3383 5383
LAUANTAISIN / AIKAINEN VUORO
AJO-OHJELMA 1149 AJO-OHJELMA 1150
VUORO MM IK IK MM IK IK
5 8.25 - - 8 - 9.16 2 10.35 - [10.41 - 11.26
6 9.15 - 9.21 - 10.06 3 11.36 - 12 .51
5 14.16 - i L1 e
3.5 5.20 + 0.10 = 8.45
( 6.51) 8.8 = A0.086 (10.36) 18,41 = 25,3 [15.56)
IK IK IK IK
METRON AJOSARJA 383 16.08.1993
KULJETTAJILLE ... 1383 3383 5383
LAUANTAISIN / MYOHAINEN VUORO
AJO-OHJELMA 1151 AJO-OHJELMA 1152
VUORO MM IK IK VUORO MM IK IK
7/ 14.25 - [14.31 - 15.16 6 17.38 = [1%.41 - 18.26
8 15.26 - 16.21 SIIRTYMINEN VUOROLLA 3 KLO 19.11
RL:EEN ITAPAAN OHJAAMOSSA
RL RL
3 19.28 - 20.16
0.10 + 4.36 4.04 o= 8.45
(11:50) ‘T4x31 ~ 16:21 (16.56) 17,21 - 20.16 {91.00)

IK

IK

IK

RL IK



